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Our homework journey...

Cathy Vatterott (2010) identified five fundamental
characteristics of good homework: purpose, efficiency,
ownership, competence, and aesthetic appeal.
1.Purpose: all homework assignments are meaningful &
students must also understand the purpose of the
assignment and why it is important in the context of their
academic experience (Xu, 2011).

2.Efficiency. homework should not take an inordinate
amount of time and should require some hard thinking.
3.0wnership: students who feel connected to the content
and assignment learn more and are more motivated.
Providing students with choice in their assignments is one
way to create ownership.

4.Competence: students should feel competent in
completing homework. In order to achieve this, it’s benefi-
cial to abandon the one-size-fits-all model. Homework that
students can’t do without help is not good homework.
5.Inspiring: A well-considered & clearly designed resource
and task impacts positively upon student motivation.
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Homework at KS3
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Feeling Adventurous

1. France has a pro-natal policy, find out what
this means. What are the benefits of
following the policy® Find out if it is working.
How do other countries manage
population?

2. Keralain India is a place where they have
managed population growth — can you
write a report about what they have done
in order to lower the birth rate. Has it been
successful?

Upping the challenge

3. 'The One Child Policy had more strengths
than weaknesses' — to what extent do you
agree with this statement. You need to
summarise the OCP in the infroduction,
both strengths and weaknesses in the main
section and an opinion in the conclusion.

4. The UK has an ageing population. Find out
what this means and write a newspaper article
about the effects an ageing population is
having on the UK. What are the government
trying to do to change this?

Starting straightforward

5. Find out key statistics (e.g. birth & death
rate, population density, infant mortality rate)
for & different countries — summarise what you
have found cut in a table. Explain what it tells

vou about each country.

&. Find a population density map for two
different countres of your choice [ask your
teacher if you are stuck) and describe the
pattern shown in both. Can you explain any
reqsons for this patteme

s Homework menus...

« Geography in the
news...

e How Is this different to...

Task 1: This is a research-based homework. You should aim fo structure the findings of your
research as follows; What does a pro-natal policy mean? Why has France adopied a pro-natal
policy? How might this benefit France in the future? Has the policy been successfulg Investigate
other population policies in countries such as China. India, Canada and Australia — or even the
UK.

Task 2: In order to complete this homewaork successfully you will needs to research Kerala. Even
use Google Earth to get a feel of Kerala and see what it is like. In your report about Kerala you
need to explain why population growth has had a negative impact on Kerala. How has the
population been managed in Kerala — why is the birth rate falling? How will this help Kerala to
develop?

ﬁ Task 3: As you ressarch China’s One Child Policy make

notes on the following: when was the policy infrocduced
and why was it infroduced? How was the policy enforced
thraughout China? How will the population affect China's
population structure (look for population pyramids for
China's population from 30-40 years agoe, the present day
and a projected future population pyramid). Then answer
the GCSE style question using the following structure
1. Briefly infroduce the policy and say why it was

; adopted in China
2. Strengths/advantages of the policy (think social, economic and environmental)
3. Weadkness/disadvantages of the policy —what negative impacts might it lead to for China's
future

4. Adirectlink back to the statement — do you agree or disagree?

Task 4: What is an ageing population? Countries such as Germany and the United Kingdom have
one. As recently as last week, an ageing population makes news headlines in the UK — consider
why this would be. Create a newspaper report (you can print off or design your own newspaper)
with an appropriate headline to suggest why an ageing population is sending the govemment
intc a panic. Consider the future too —what could an ageing population lead to?
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s Homework menus...

Homework at KS3 - ceographyin the

News...

G@Ogl’ﬂph)’ in the nZI.I.IS... Date: 9 Location - Identfify the lacation of Lesotho on the map below.
Food insecurity in Lesotho. 3

about the drought in the Affican country of Lesotho: ) "
quardian comyglobal-development/ 2020/ on/30/drovghileaves fens-

www.internetgeography.net/homewor

Geography in the News 25 (2019/20) T

- H H f-thousands-indesotho-one-step-from-famine e ; i e

Wider readlng n Geogra phv I?my URL: I‘Tﬂp&:,n'fﬁn:u .cg;ﬂsesec:‘fh;td'g;gﬁ i, gt Lt
Geography in the News this week explores how more than 3bn people could live i Koy Torms 17 ol Bm vy ozl = eoor v T Falows o e e o =Y
heat bv 2[}7(] definifion for each: ‘ .

’ . . [ Drought
https://www.bbc.co.uk/news/science-environment-52543589 : Desaribe the location of Lesotho. Don't forget fo use CLOGT — C — condinent, L — fines

. . . . of latitude, O - coceans and seas, © — compass direction, C - cifies/countries nearby
TinyURL: https://tinyurl.com/CC3bnHeat i || Famine
[ Mitigation

_DEfine It Inter-governmental crganisation (1GO)
To begin with, it will be very useful to know what the following terms mean. Writ
definition for each:

* Climate change @ r&_‘@_ﬂ: ;%

Key Guestions: - X .
1. Why iz TEepo Molopo concemed for his grondchildrans Social Impacts Economic Impacts Environmental Impacts

International Monetary Fund ]',_':"' Impacts - What are the socicl, economic and environmentsl impocts of drought?

* Paris Climate Agreement

2. How many people in Lesotho foce severs hunger?
3. Why are pecple in Lesotho facing severe hungers
* Climate niche

4, How marny people inrueal areas are one step away from fomine?

£, Identify the infer-governmental crgarizafion [IG2) that launched a $34m appeal for
more funding.

’ﬂ The Fa cts & Wiy are ine govemment facing difficulfes in receiving help from s development
Complete the questions below or head over to e
https://www.internetgeography.net/gitn25/
to complete the questions as a multiple-choice quiz.

8 Links - Hoowr does this arficle link to what we hove previoushy studied in gecgraphy
and/cr what you already know?® How does this Bnik fo other aspects of geography®
7. How iz the European Commizsion providing support?

. L Superstar Challenge - The curent response to the orisis is Lesotho foouses on the
8. How is the Wend Food Programme [WFF] providing support? * impacts of the drought. Howsver, steps con be foken to mitigote the impact of

i i i _hi drought. Mifigation means faking actions befors, or ot the baginning of, drought to help
1. How many people will be living in new un-liveable temperatures by 20707 o e e ot o o e
2. Unless greenhouse emissions fall, large numbers of people will experience ;

temperatures hotter than how many degrees Celsius?
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Homework at KS3

fﬂe are learning about... The UK's ogsing populafion

How I8 thig different 0. ..

Dhate:

Uganda?

We are learning about... The Ching Cne Crild Poicy Date:
Uy o = o r— & Describe the locafion of Key Words:
i;_‘é"“' shghum 1 ks France:
B . Garma Pro-natal pobcy:
ey A gy

N u. \ Har
] i Yorulm I faine
= Roseas LA o, R

Haascn Fertility rate:
g | Ferparan Toulon -, :‘I
TRANCE Brdorra ¥ Coraidh
Ll ] [ —

Bemember CLOCC. .. Continent, lines of [offede, oceons/seos, coundriss /cifies,
composs direction.

Ciode de la fomille - Fronce’s Pro-natal policy

Key Focts: Advantoges and Disadvanfoges:
Date policy began: (Colowr code the following statements)
Ferility rafe in 1750: = Poyment of up to £1064 10 couples
Ferility rate in 1740: reanineg their third child.
Ferfility rate in 2010: a  EENS0UE Marernity grants.

= Family alowanses o increase the

purchasing power of three chid famiies.

mMatemity leave on neor full pay for 20

wasks for the first child to 40 wesks or

mare for the thind child,

= 100% morrgage and prefersntia
freatment in the alocation of three
bednoom council fiats.

o ipenefits o parents untl the
youngest child reaches 15

= 30% fare reduction on al public transport
for three cnid famibas.

= Pengsion schemes f
MOThers housey, .

= Dependng on the famiy's income,
childoare costs from virually nothing to
arcund €500 a month for the maost weall
off of famiies.

Using the daota ond the iformation in the fable
oppasite, has the policy been sucoesshul? .

Useful websites, aricles and podcasts:

= hitpsfesawnn. bbe.co.uk/bitesize /guides f230rsga revision /5

»  httpssSeeanncthelecal free01 #0115/ frances-bift-rote-drops-for-fourt h-year-in-o-row

*  htpsfesann uncorgfenidevelopment fdesa/population events jpdffexpent 24 /Policy Briefss
P8 France.pdf

Challenge: 1s immigration rather than this policy, fo blame for the increase in population?

Describe the populafion structure for Uganda.

Mgarada - T8

Key Words:

Yourthfu
population:

Dependsncy

ratic:

Impaoct

social

 Homework menus...
« Geography in the
news...

e How Is this different
10...

Key Populafion data Couses of a youthful pepulation in Uganda
Birth rate
Death rate
Fertility rare = = = =
' India v China. Whao is the biggest superpower in the world?
HDI ntroduction 1o SUpenpowvers — BRICS and MINT
== ndia - location, population and charactenstics
Ao Feracy o ndia - economic growth & THCs

What is the future for India®
China - kzcafion, population and charactenstics

What is the future for China?
Future superpowers — Asian Tigers

Homework: LA, Bussia, Brazl & South Africo

ndia - Broblems and soluticns of urbanisation [DRe)

Ching — economic growtn £ danufocturing indusiry
China — proolems and solutions of economic growsh|

WCT.3, NC22, NC3.2,
MWCE.3,

useful websites, articles and podcasts:
+  hifp

s weforumoorgfogendo/201 405/ the-wwodd-z- 1 T-vounqesi-c ounties-ore-alkin-ofricaf

* hifp

inene.coolge cqrophy.co.uk) GCIENARAPopulation Youthful! Y owthfulE20P opulafions.him

+  hHps i youtube comwatchEv=TrwiiLR1 o

Challenge: why do you think the countries with the youngest people are all in Africa?
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Homework at KS4...

Geog your me

1. Read through the information below and categorise the effects of Typhoon Haiyoan
into primary and secondary effects.

£300 people died.

Infrasfructure including
schooks destroved.

400mm of rain coused
widespread flooding.

14 million pecple affected
inclueding & million jobs lost.

40,000 homes destroyed.

Fooding caused
landslides, blocking roads.

£00,000 people displaced.

Looting and viclence in
Tacloban.

Power supplies cut off.

what were the short termn and long ferm responses?

5. Using the image to help, outline the

UK employment shane (%)
osBESERE

2. Using the imoge below, explain how the UK has experienced industrial change.
Key words: deindustrialisafion, economy, fraditional industry, decline, agriculture,

==

Pre-indusirial
4800 AD

3. Define these key terms:

+ Producers

= Consumers

+ Decomposers

= Mufrient cycling

il 20 AD
2000 AD

I rrimary [} secondary [ vervary B} cuatermary |

What is the difference between a food web and a food chain?

4. Using the diograom below and the labels, explain the formation of a waterfall and a
gorge.

T

reasons why the regenerafion project was e
needed in New kslington.

wWhat were the main features?

what are the successes and weaknesses?

Successes Weaknesses

Exam Queshion: Using an example of an exireme weather event in the UK, fo what
extent were the economic effects more significant than the social effects. (¥ marks + 3
SPaG).

Plan your answer here: what are you going toinclede in PDL - be specific.

In 2014 in a BBC Radio 4
interview Prof Hattie said:
“Homework in primary
school has an effect of
around zero. In high school
it’s larger ... which is why we
need to get it right, not why
we need to get rid of it.

“Certainly | think we get
over obsessed with
homework. Five to 10
minutes has the same effect
of one hour to two hours.
The worst thing you can do
with homework is give kids
projects. The best thing you
can do is to reinforce
something you have
already learnt.”
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